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TILAK MAHARASTRA VIDYAPEETH, PUNE 

BACHELOR OF COMMERCE (B.COM.)  

EXAMINATION- DECEMBER- 2022 

FIFTH SEMESTER  

Sub.: Cost & Works Accounting-II (BCOM19- 303C, BCWA-502) 

Date:  7/12/2022                                     Total Marks:  100                    Time: 10.00 am to 1.00 pm 

 

Instructions:   1) All questions are compulsory.       

 2) Figures to the right indicate full marks. 

Q.1 (a) Fill in the blanks (Any 5)  (10) 

1 Abnormal gain should be __________ to the costing P & L A/c.   

 a)  Debited   b) Credited  

 c)  No effect   d)  None of these  

2 Lab charges is the example of ………………. overheads.   

 a)  Distribution   b) Factory  

 c)  Research & development   d)  Selling and Distribution  

3 The purpose of ------------- is to bring together all costs incurred for completing a job  

 a)  Job costing    b)  Process costing  

 c)  Operating costing   d)  None of this   

4 Overheads mean ________ cost of organization.  

 a)  Direct   b)  Indirect  

 c)  Other   d)  Material  

5 Under process costing, costs are allocated for each _________.  

 a)  Process   b)  JOB  

 c)  Part   d)  Contract  

6 When the amount of overheads absorb in less than the amount of overheads incurred it is 

__________ 

 

 a)  Under absorption   b)  Over absorption  

 c)  Over recovery   d)  None of These   

7  The method of costing applied in steel industries is ------------ costing  

 a)  Process costing    b) Contract costing   

 c)  Operating costing    d)  Target costing   

   

Q.1(b) State whether the following statement are true or false (any 5)  (10) 

1 Process casting differs from JOB casting.  

2 Purchasing of material is always centralized.  
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3 There is no difference between process costing and operation costing.  

4 Hiring of special machinery, subcontracting are direct expenses.  

5 Production overhead is also known as factory overhead, works overhead.  

6 All products have significant value.  

7 Production overhead is also known as factory overhead, works overhead.  

 

 

  

Q.2(a) Define Job costing; state its feature and procedure of Job costing. (20) 

 OR  

Q.2(b) A Ltd has 3 production departments and 2 service departments. A, B, C are production 

departments while Y, Z service departments. Their details are as follows: 

Particulars Amount in Rs. 

Rent and rates 10,000 

Indirect wages 5,000 

Depreciation of machinery 20,000 

General lighting 2,000 

Power 1,000 

Further details are as follows: 

Particulars Total A  B C Y Z 

Floor space (sq.ft) 5000 1000 10000 10000 1000 1000 

Light points 50 20 10 10 5 5 

Direct wages 10000 4000 4000 1000 500 500 

Horse power of 

machines 

100 50 30 10 5 5 

Value of machines 100000 20000 20000 20000 200000 20000 

You are required to apportion the costs to various departments on most equitable basis preparing 

primary distribution summary. 

 

 
 

 

Q.3(a) 
Materials X and Y are used as follows: 

Minimum usage – 50 units each per week 

Maximum usage – 150 units each per week  

Normal usage – 100 units each per week 

Ordering quantities X = 600 units 

                                 Y= 1,000 units 

Delivery period    X = 4 – 6 weeks 

Y = 2 – 4 weeks 

Calculate for each material (i) maximum level (ii) Minimum level and (iii) Ordering level. 

(10) 
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Q.3(b) Write short notes.  (Any 4)  (20) 

 1) Meaning of store keeping and functions of 

store keeping 

2) Meaning of Normal loss and abnormal 

loss. 

 

 3) Features of service costing 4) The two Bin system  

 5) Economic order Quantity. 6)   
   

Q. 4 Solve the following problem (Any 2) (30) 

1.   A product passes through two distinct process A and B. From the following information you are 

required to prepare process A a/c and process B a/c. 

Particulars  Process A Process B 

Material (introduced 20,000 units in 

process A) 

30000 3000 

Labour  10000 12000 

Overheads 7000 9580 

Normal loss 10% 4% 

Scrap value of normal loss Rs-1 per unit Rs- 2 per unit  

Output  17500 units  17000 
 

 

2. What do you mean by cost of materials and explain in detail methods of Purchasing.  

3. From the following data relating to a good transport company Kesari Transport Co. Ltd: 

calculate the cost per tone-km. 

Particulars  Amount  

Drivers salary 10,000 

Garage mechanic salary 5,000 

Manager salary  15,000 

Garage rent 3,000 

Accountant's salary 12,000 

Insurance premium  2,000 

Cleaners salary 1, 20,000 

Administration overhead  5,000 

Depreciation 25,000 

Road tax and permit fee 1,000 

Interest  6,000 

Petrol and diesel consumed 5,000 

Tyres and tubes 4,000 

Lubrication and sundries 1,000 

Spares 2,000 

Repairs and maintenance  3,000 

Hire charges  2,000 

The trucks ran 1,000 km during the year ended 31
st
 march 2016, and the quantity of goods 

carried is 100 tones. 

 

4. Explain the meaning of overhead absorption and methods of overhead absorption.    

 

 


